

AdarshShikshanSanstha's KALIKADEVI ARTS, COMMERCE AND SCIENCECOLLEGESHIRURKASAR, Dist. -Beed Internal Quality Assurance Cell

CRITERION IVth INFRASTRUCTURE AND LEARNING RESOURCES

Key Indicator 4.1: Physical Facilities

The Institution has adequate infrastructure and other facilities for

- a. teaching learning, viz., classrooms, laboratories, computing equipment etc
- b. ICT enabled facilities such as smart class, LMS etc.
- c. Facilities for Cultural and sports activities, yoga centre, games (indoor and outdoor), Gymnasium, auditorium etc

Adequate Facilities of Institution



Hon. Jaidatta S. Kshirsagar (B.E. Mech.) Secretary

Dr. Vishwas S. Kandhare (M.A. Ph.D.) Principal

Adarsh Shikshan Sanstha Beed's KALIKADEVI ARTS, COMMERCE AND SCIENCE COLLEGE SHIRUR KASAR,

Tq- SHIRUR (KASAR) -413249, DIST- BEED Registration No.: B.H.R 11/72 Est. Date. Year: 29/01/2002

NAAC Reaccredited (II Cycle)
'B' Grade
ISO Certified

Permanently Affiliated to, Dr. Babasaheb Ambedkar Marathwada University, Chhatrapati Sambhajinagar

Ph. No. (02444) 259590/ Fax. No. (02444) 259590

E-mail:- Kalikadevicollege@gmail.com.

Website: www.kalikadevicollegeshirurkasar.org

Ref. No. KMS/ 2022-23/

Date: - 28/04 /2023

4.1.1 - The Institution has adequate infrastructure and physical facilities for teaching- learning. viz., classrooms, laboratories, computing equipment etc.

Kalikadevi Arts, Commerce and Science College Shirur (Kasar) is constantly striving to provide quality education and ensure all round development of the students in order to create awareness regarding their responsibilities and empower them. Surrounded by extensive green cover of nature, the college has an aesthetic landscape which is architecturally striking. The institution has a well maintained, user friendly and resilient infrastructure conducive for teaching, learning and comprehensive development of students, faculty and stakeholders.

Sr. No.	Name of the Hall	Count of halls		
1.	Divyangjan Room	1	21' X 10'	210 sq. ft.
2.	Staff Room	1	21' X 21'	441 sq. ft.
3.	Seminar Hall	1	52' X 21'	1092 sq. ft.
4.	Class Room	17	31' X 21'	651 sq. ft.
5	Ladies Room (Toilet)	1	21' X 10'	210 sq. ft.
6.	Girls Room	1	21' X 21'	441 sq. ft.
7	Principal Cabin	1	25' X 21'	525 sq. ft.
8	Guest Room	1	21' X 10'	210 sq. ft.
9	Boys Room	1	21' X 21'	441 sq. ft.
10	Gents Toilet	1	21' X 10'	210 sq. ft.
11	Physical Education + Sport Department	1	31' X 21'	651 sq. ft.
12	Record Room	1	21' X 10'	210 sq. ft.
13	NSS Department	1	21' X 10'	210 sq. ft.
14	Health Car Centre + Women's Grievance Cell + Feeding Room	1	21' X 10'	210 sq. ft.

15	IQAC Cell	1	21' X 10'	210 sq. ft.
16	Exam Department	1	21' X 10'	210 sq. ft.
17	Vice Principal Cabin	1	21' X 10'	210 sq. ft.
18	Reading Room	1	21' X 10'	210 sq. ft.
19	Library	1	21' X 21'	441 sq. ft.
20	YCMOU Centre (Code 2261A)	1	21' X 10'	210 sq. ft.
21	Grahak Bandar	1	15' X 10'	150 sq. ft.
22	Office	1	31' X 21'	651 sq. ft.
23	Botany Laboratory	1	31' X 21'	651 sq. ft.
24	Botany Department	1	21' X 10'	210 sq. ft.
25	Zoology Department	1	21' X 10'	210 sq. ft.
26	Zoology Laboratory	1	31' X 21'	651 sq. ft.
27	Commerce Dept + Computer Lab	1	21' X 21'	441 sq. ft.
28	Class Room + Home Science Department	1	31' X 21'	651 sq. ft.
29	Store Room	1	21' X 10'	210 sq. ft.
30	Mathematics Department	1	10' X 11'	110 sq. ft.
31	Class Room + Geography Department	1	20' X 17'	340 sq. ft.
32	Class Room + Students Study Room	1	25' X 30'	750 sq. ft.
33	Life Long & Extension Department	1	21' X 10'	210 sq. ft.
34	Social Science & Language Departments	1	31' X 21'	651 sq. ft.
35	Chemistry Laboratory (Physical)	1	31' X 21'	651 sq. ft.
36	Chemistry Department + Laboratory	1	21' X 21'	441 sq. ft.
37	Physics Laboratory I + Dark Room	1	21' X 21'	441 sq. ft.
38	Physics Department	1	21' X 10'	210 sq. ft.
39	Physics Laboratory II	1	31' X 21'	651 sq. ft.
40	Gallery (Porch)	1	10' X 1000'	10000 sq. ft.

Kalikadevi Arts, Comm. & Sci. College: Shirur (Ka.), Dist, Beed:

4.1.1 - The Institution has adequate infrastructure and physical facilities for teaching-learning. viz., classrooms, laboratories, computing equipment etc

Principal Cabin







Library and Reading Room







Class Rooms







Laboratories







Conference / ICT Hall







Ladies and Gents Toilets









Sports Facilities for Students

























Support Facilities



















Kalikadevi Arts, Comm. & Sci. College: Shirur (Ka.), Dist, Beed: